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MAS5:=MA(C,5);tHeE(&
MA10:=MA(C,10);35tE5E(&
MA20:=MA(C,20); 3158
MA40:=MA(C,40);3<IHEEIE

CONDTION_A:=MA5>MA10 AND MA10>MA20 AND
MA20>MAA0{FIr R 2 KHFS I ERIEER(R

CONDTION_B:=(O-
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MADS)/MA5*100> =-1;{#Itr EE B EF R RIIB A2 R IHE(R
XG:CONDTION_A AND CONDTION_B; {5508} tHgEIRHR
1952 L 1S 45 ERIER 5 B9 AT, ?

52 H 7 |, BRINTEETERI5 HE&ANER AT -

MAS5:=MA(C,5);

23 HEF):=MA5>MA10 AND MA10>MA20 AND MA20>40;

[EER5:= BETWEEN(L,MA(C,5)*1.01,MA(C,5)*0.99) AND VOL<MA(VOL,5);
AR AT 3kHES AND ( [B1ERS5 OR [HIEES ) ;

KARINERZE3419% , H13, 34, S55H19%ZLHFIRNER AT ?
A:=MA(C,13)>MA(C,34) AND
MA(C,34)>MA(C,55);A1:=MA(C,13)>REF(MA(C,13),1) AND
MA(C,34)>REF(MA(C,34),1) AND
MA(C,55)>REF(MA(C,55),1);A2:=BETWEEN(C/MA(C,34),1.02,0.98);XG:A AND
Al AND A2:8B(&31H

K92 HEF (5 10 20 30 60)
BN TES B 2 L WBBRYEIA SRR AT ?

M10:=MA(C,10);155&8{%2k
M20:=MA(C,20);1E2E{%3kE
M40:=MA(C,40);ZIE5E %
M60:=MA(C,60);ZIE5E(%
COUNT(M10>M20 AND M20>M40 AND M40>M60,3)=1;58%3kiH

BIAERHRES | aISENEANT | ZIBaR(%
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M1OM{E: Y2 HY10 B & R a1 2R R
M20ME(E W& HI20 B & SRR a1 12 HER (R
MAONE(E I E T HI40 B [ BRI 1Y S tHER (R
M6ONH/E: IE 4 THI60 A & SRR E T IEERIR 2K

i3 HFFHEM10>M20ANDM20>MA0ANDM4A0 > M60HIREL =1 FRIHEEIS
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